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QUESTION 1

Examine this PeopleCode program excerpt:

&Row Levell = &RE Levell (&) :
iﬂec:Empl = &Rr:hw_ievell -EMPL;
&Fld Role = aRec Empl .ROLE:
&Fos = &Fld Role.Valuea;

Select the option that correctly combines these four statements into one valid PeopleCode statement.

A,

&Pos = sRow Levell (Record.EMPL) .ROLE.Values;
B. &Fos = &RS Levell (&I) .EMPL.ROLE.Valua;
C. &Pos = &Row_ Levell (&I) .EMPL.ROLE.Value;
D. &Fos = ERSE Levell . Row Leaveall . .Rec Fmpl.ROLE.Valusa;
E. spos = &SRS Levell.&l.EMPL.ROLE.Value:
A.B.C.D.E.

Correct Answer: C

QUESTION 2

This exhibit shows the placement of fields on your fluid page definition in Application Designer.

Database Name:l NNNNMNN:

People Tools Release |_I vl I
ption 1 Available
Comments A

hd

What will you need to do so that these fields display in an orderly fashion for the end user in the browser?

A. Set the Input Type property on the Fluid tab for each page control to reflect the field type

B. Set the Alignment property on the Record tab for each page control to Auto

C. You don\\'t need to do anything because default cascading style sheet (CSS) styling arranges the page controls as

needed for the end user

Latest 120-632 Dumps | 120-632 Exam Questions | 1Z0-632 Braindumps 214


https://www.geekcert.com/1z0-632.html
https://www.geekcert.com/1z0-632.html
https://www.geekcert.com/1z0-632.html

VCE & PDF https://lwww.geekcert.com/1z0-632.html
2024 Latest geekcert 120-632 PDF and VCE dumps Download

GeekCert.com

D. Select Enable JavaScript on the Fluid tab of the Page Properties dialog box
E. Align them manually, using drag and drop, in Application Designer

Correct Answer: B

QUESTION 3

Select three changes to a record definition that require you to rebuild the SQL table. (Choose three.)
A. You change an ascending key to a descending key

B. You deselect the Alternate Search Key check box

C. You change the length of a non-key field

D. You deselect the Search Key check box (only) for a field

E. You change the label of a key field

Correct Answer: ACD

QUESTION 4

An end user is accessing your field application for the first time using her smartphone. What will the end user notice
based on the settings shown in this example?

Lomponent Properties

General | Use | Inteinst  Fhad |

Component Attnbubes —

¥ Eluid Mods ™ Mo System Header Pags

' Layow Only ™ Mo System Side Page

I Page Navigation in Histow Component Type: | Activity Guide -
T Dizplay grn Small Form Factor Homepage Seaich Type | Masten/Detail =

Heade: Toolbar Actons
I Dijssbls All Actions

¥ Logout ' Motificabons
¥ Hompe M MawBar

F Back ™ Mest in List

M AgdTo I Previous in List
™ Help
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A. The end user will not be able to navigate back to pages previously accessed
B. The end user will need to navigate to the classic homepage to access this component because it is an activity guide

C. To save screen space on the small screen and to send less data to the phone, only the layout outline of the page
elements will be visible

D. The Notifications button will not appear in the fluid header for smartphones
E. The end user will not see a tile on the fluid homepage to tap for accessing for the component

Correct Answer: A

QUESTION 5

Select three steps that comprise the user interface phase of PeopleSoft application development? (Choose three.)
A. Register components

B. Define fields

C. Define pages

D. Define components

E. Define records

F. Build records

Correct Answer: ACD

Reference: https://docs.oracle.com/cd/E41633_01/pt853pbhl/eng/pt/tapd/
task_UsingPeopleSoftApplicationDesigner-0776f2.html

Latest 170-632 Dumps 170-632 Exam Questions 170-632 Braindumps

Latest 120-632 Dumps | 120-632 Exam Questions | 120-632 Braindumps 4/4


https://www.geekcert.com/1z0-632.html
https://www.geekcert.com/1z0-632.html
https://www.geekcert.com/1z0-632.html
http://www.tcpdf.org
https://www.geekcert.com/1z0-632.html
https://www.geekcert.com/1z0-632.html
https://www.geekcert.com/1z0-632.html

